Name: ('—&—Digi’r Dividends; No Remoinders)

a 1,773 +9 = d. An electrician needs to buy 2,910
lightbulbs for a new apartment
building. The lightbulbs are sold
in packages of 6. How many
packages of lightbullbs does the
electrician need to buy?

Show your work.

b. A soccer team is selling tickets to
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answer: 3,015 S
2,526 6
2,723 7
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81,192
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ANSWER KEY ('-}—Digi’r Dividends; No Remcinders)

(Division)

a 1,773 +9 = 197 d. An electrician needs to buy 2,910
lightbulbs for a new apartment
building. The lightbulbs are sold
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